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Q No 3. (A).  What is outsourcing? Why a company outsource some or all of its receivables ?
 OUT SOURCING:
Outsourcing is an agreement in which one company hires another company to be responsible for a planned or existing activity that is or could be done internally, and sometimes involves transferring employees and assets from one firm to another.

Company outsource some or all variable because of the following reasons:
1. Reducing operating, labor, and overhead costs.
2. Focusing more on the company’s core competencies and thus improving its competitive advantages by outsourcing time-consuming processes to external companies.
3. Freeing up internal resources and using the resources for other purposes.
4. Mitigating risk by sharing risks with external parties and building meaningful partnerships.
5. Improving flexibility and efficiency by delegating responsibilities that are difficult to manage and control to external companies.

Q.No 3. (B).   Discuss the three motives for holding cash?

Definition: The Motives for Holding Cash is simple, the cash inflows and outflows are not well synchronized, i.e. sometimes the cash inflows are more than the cash outflows while at other times the cash outflows could be more. Hence, the cash is held by the firms to meet the certain as well as uncertain situations.

Motives for Holding Cash:
Motives of holding cash are discuss below.

Transaction Motive: The transaction motive refers to the cash required by a firm to meet the day to day needs of its business operations. In an ordinary course of business, the firm requires cash to make the payments in the form of salaries, wages, interests, dividends, goods purchased, etc.

Precautionary Motive: The precautionary motive refers to the tendency of a firm to hold cash, to meet the contingencies or unforeseen circumstances arising in the course of business.

Since the future is uncertain, a firm may have to face contingencies such as an increase in the price of raw materials, labor strike, lockouts, change in the demand, etc. Thus, in order to meet with these uncertainties, the cash is held by the firms to have uninterrupted business operations.

Speculative Motive: The firms hold cash for the speculative purposes to avail the benefit of bargain purchases that may arise in the future. For example, if the firm feels the prices of raw material are likely to fall in the future, it will hold cash and wait till the prices actually fall.

Thus, a firm holds cash to exploit the possible opportunities that are out of the normal course of business. These opportunities could be in the form of the low-interest rate charged on the borrowed funds, expected fall in the raw material prices or favorable change in the government policies.
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Q.2. A. Discuss the important variables in selection of the marketable securities for investment?
Marketable Securities
Marketable securities are liquid financial instruments that can be quickly converted into cash at a reasonable price. The liquidity of marketable securities comes from the fact that the maturities tend to be less than one year, and that the rates at which they can be bought or sold have little effect on prices.

1. Safety of principal:

Refers to the likelihood of getting back the same number of dollers when you originally invested.

2. Marketability:

The marketability or liquidity generally refers to how easily or quickly a security can be bought or sold in a secondary market without substantially impacting the stock price. Stock with low liquidity maybe difficult to sell and may cause u to big loss and if you can not sell the share when you need/ want to.

3. Yield:

Yield refer to earning generated and realize on an investment over a particular period of time. It’s expressed a percentage based on the investment amount, current market value or face value of the security. It includes the interest earned or dividend received from holding a particular security.

Q.02 (B). What is meant by net float?  How a company can play with its float through controlling its disbursement?

Net float:
Net float is the balance (cash) difference in between bank book and pass book. The amount show on cash book represent that the such  amount available in our bank for use.

Following are the different ways through which the firms  play disbursements.
1: payable through draft.

Payable through draft play an important role in delay disbursement because like an ordinary cheque is not payable on demand but when it present to the issuer's bank for the collection the bank must present it to the issuer for acceptance.... If the issuer accept that then the fund are transfer. The advantage of the draft is that it delays the time of payments.

2. Dividend Disbursement:
Most companies hold a separate salary disbursement account. To reduce the balance in this account, the company will anticipate when it will receive payroll checks released for payment. When repayment happens on a Friday not all payments for the day can be cashed. As a consequence, the company does not provide savings funds to support its whole payroll. Many checks won't be even issued again on Monday owing to due to the delay in the deposits.
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Q.No 1 (C). If the firm follows Hedging approach to financing, how would it finance its current assets?

1. Hedging Policy:

One of the policies by which a firm finances its working capital needs is the hedging policy, also known as matching policy. This policy works in an arrangement where the current assets of the business are used perfectly to match the current liabilities.

As per this approach, fixed and permanent current assets are financed through long-term sources and fluctuating current assets are financed through short-term sources.

Q.1. A. Some firms finance their working capital with short term financing. What impact would this decision have on their profitability and risk?

The main impact on profitability is cost advantage. Normally short term debts is less costly than long term debt. Moreover compared with long term debt, short term debt is easier to obtain and provide more flexibility over spending. 

But short term funds are Riskier than long term funds. The risk is due to the immediate payments of the short term obligations, the refinancing requirement, and the uncertainty in the interest rates when refinancing requirement arises.
B. Some companies finance their seasonal current assets with long term financing.  What impact would this policy has on their profitability and risk?

Ans:                                                              

Seasonal Current assets also called  as temporary current assets are suddenly increase due to purchase good on credit (increase in Account receivable) and inventory due to increase in Sales. For seasonal current assets required extra fund to manage cash flows, inventory and receivables during the peak seasons.  Different companies adopt different strategies for financing i.e
1. Matching maturity financing.

2. Conservative Financing Strategy

3. Aggressive financing strategy
Under the Conservative financing strategy, long term financing is adopted. But adopting this strategy it impact the profitability of the company because fund are borrowed for long term while utilized for a short time i.e during the peak season only the company bear additional cost of fund in shape of interest charges for the period the funds are not utilized due to this additional cost reduce the company profit which they earn on season. Another impact of this strategy is risk because of the  interest rate fluctuation. The risk of paying more interest due to higher interest rate under long term financing as compared to short term financing.
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